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The analysis shows that, as in other countries, the average wage in the public sector in Slovenia is higher than in the private sector. In the period 2005−2022, the average wage in the public sector was about a quarter higher than the average wage in the private sector.

The difference in the average wage between the public and private sector is influenced by differences in the demographic and employment structure of employees, such as differences in educational structure, gender, age, type of contract, professions, etc. The distribution of wage levels differs significantly between the sectors due to these differences. In the private sector, the distribution is much more concentrated at lower wage levels, mainly due to occupations that appear in the private sector but not in the public sector. The distributions are more similar if we only compare occupations that are common to both the public and private sector.

Estimates of wage differences, after eliminating certain demographic-employment differences in the structure of employees between the sectors, show that wages in the public sector are lower in medium and high professional occupational groups (negative public sector wage premium) but higher in occupations with simpler tasks (positive public sector wage premium).

This short analysis is a direct update of the analysis on wage differences between the public and private sector from Economic Issues 2018 (IMAD 2018) and Roter et al. (2017), this time based on detailed administrative microdata of employees.
Wage Differences Between the Public and Private Sector and 
the Wage Premium
This analysis addresses key aspects of wage differences between the public and private sector – what is the ratio between average wages in the public and private sector, why is the average wage in the public sector higher than in the private sector, what are the distributions of wages in the sectors, how have they changed over time, and what are the wage differences when comparing occupations and employees with similar characteristics between the public and private sector.

What is the Ratio Between the Average Wage in the Public and Private Sector?
In Slovenia, the average wage in the public sector, as in other countries, is higher than in the private sector. In the period 2005−2022, the average wage in the public sector was about a quarter higher than the average wage in the private sector. The wage ratio has been gradually decreasing over time, except in some years, due to slightly higher growth of the average wage in the private sector. A short-term increase in the ratio occurred in 2008 and 2009 due to high wage growth in the public sector with the introduction of a unified pay system, but this was followed by a period of reduction due to the adopted public finance austerity measures and a significant increase in the minimum wage, which particularly increased the average wage in the private sector. The increase in the ratio in 2020 and 2021 was influenced by a spike in wages in the public sector due to payments of Covid-related bonuses, especially in healthcare. In 2022, the ratio decreased due to the cessation of Covid bonus payments in the public sector, which led to a decrease in the average wage there.
Figure 1: Ratio between the average wage in the public and private sector
[image: ]
Source: SURS (2024b), IMAD estimates.

Why is the Average Wage in the Public Sector Higher Than in the Private Sector?
The difference in the average wage between the public and private sector is influenced by differences in the demographic and employment structure of employees. The wage differences between the sectors stem from differences in the educational structure of employees, gender, age, length of service, type of contract, professions, etc. A comparison of the sectors according to these characteristics shows that in 2022, about 60% of all employees in the public sector had a higher education, while there were significantly fewer such employees in the private sector. Since higher levels of educational attainment are generally associated with higher earnings, this leads to a higher average wage in the public sector than in the private sector. The public sector also has a higher proportion of older employees. It is typical that wages increase with age, as older employees also have a longer tenure and receive a higher wage with possible seniority bonuses (length of service bonus, seniority-based promotions). The higher average age in the public sector is also related to the occupational structure: occupations that require less demanding skills are more common in the private sector and are often performed by younger people with lower education, while the average age in the public sector is higher than in the private sector. One of the most important factors of wage differences is the structure of occupations, which is a consequence of differences between activities within the sector. In the public sector, the proportion of occupations requiring more specific skills is almost 50 percent, while in the private sector it is much lower. Although the average wage among professional groups for specialists is slightly higher in the private sector, a large proportion of such occupations in the public sector has a greater impact on the average wage of the entire sector than in the private sector.
Figure 2: Share of persons employed in the public and private sector, by selected characteristics (left); level of average gross wage in the public and private sector, by selected characteristics (right), 2022
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Source: SURS (2024b), IMAD estimates.
Note: Data on the proportion of employees by demographic-employment characteristics and their average wages may differ slightly from the data officially published by SURS. This is influenced by minor differences in the sample of employees used.

What are the Distributions of Wages in the Public and Private Sector? How Have the Distributions Changed Over Time?
The distribution of wage levels differs significantly between the sectors due to differences in employment and occupational structures. The distribution of wages in the private sector is much more concentrated at the lower wage levels due to a higher proportion of employees with lower education, which is almost three times as high as in the public sector. The distribution in the public sector shows greater uniformity. The shift of distributions in both sectors to the right is characteristic of positive wage movements over time. [footnoteRef:2] The wage distribution, as is usual for income distributions, is asymmetric to the right. Typically, the average wage is higher than the median wage, i.e. the midpoint at which half of the employees earn less and the other half earn more. In 2022, based on data from the entire sample, about 64% of employees in the private sector received a lower wage than the average wage of this sector, while in the public sector, 56% of employees received a lower wage than the average. However, when we compare occupations that occur in both the public and private sector, the wage distributions between the sectors are much more similar.[footnoteRef:3] [2:  Over time, the distribution, especially in the private sector, becomes somewhat more flattened. This could, in our estimation, be due to the increasing diversity of employments with varying (not just low) wage levels, faster growth of low (but not the lowest) wages, consistent with the gradual decrease in the number of minimum wage recipients, the exclusion of bonuses from the minimum wage, the implementation of the lowest base for contribution payments, which is higher than the minimum wage, changes in the educational structure of employees leading to a decline in those with lower level of education and an increase in those with high levels of education, etc. Regarding changes in the minimum wage, the structure of its recipients and the companies that pay it out, as well as its impact on other wages, see also Perko and Rogan (forthcoming).]  [3:  The criteria by which we determined occupations as comparable are two: i) in the available data sample, an individual occupation must have at least 500 employees (at the 2-digit level of the Standard Classification of Occupations (SKP)) or 100 employees (at the 4-digit SKP level) in both the public and private sector, ii) employees in the occupation in a given sector must represent between 20% and 80% of all employees in that occupation. Due to these criteria, occupations such as senior officials, managers, doctors, teachers, salespersons, agricultural workers, forestry workers, machine operators, miners, etc. were excluded from the comparison. The size of the total sample in all occupations, including non-comparable ones, is around 500 thousand employees for a given year, in comparable occupations at the 2-digit level around 160 thousand employees, and at the 4-digit level around 50 thousand. The notes below each figure indicate at which digit level we have included the occupations of employees.] 

Figure 3: Public and private sector wage distribution, all occupations (left); public and private sector wage distribution, only comparable occupations (right) years 2015, 2019 and 2022 
(please note: red = public, black = private)
[image: ][image: ]
Source: SURS (2024a), IMAD estimates.
Note: The distribution of wages in a given year is cut off at the bottom at 90% of the minimum wage. For the definition of the sample, see also note 2. In the figure on the right, comparable occupations are at the fourth level of detail. In the figure on the right, the wage distribution curve for the public sector rises slightly above the curve for the private sector at wages of EUR 2,500 and above, indicating slightly more frequent wages in this segment of distribution in 2022. Although the distribution for both sectors only includes comparable occupations, this may also be, in our opinion, a result of differences in the education and age structure of employees between the sectors and in the structure of employment types and by gender, which were not removed from the distributions and may affect the shape of the distribution of both sectors. How wages of employees between sectors compare only in comparable occupations and at the same time among employees who have the same education, age, gender, and other characteristics, see section 1.4 on wage premium.

What are the Wage Differences Between the Public and Private Sector When 
We Control for the Demographic-Employment Structure Differences?
For a comparison of wages between the public and private sector, it is more appropriate to consider only occupations that are comparable between the sectors and to control for other demographic and employment differences. Each sector includes occupations that do not appear in the other sector or are only present in small numbers. Such occupations include, for example, certain service workers, sales workers, and industrial and construction workers that occur in the private sector, while occupations such as teachers and doctors mainly occur in the public sector. To ensure appropriate comparability of wages between the sectors, we subsequently compare occupations that occur in both sectors. Such occupations include managers, professionals, or technicians from the fields of scientific, engineering, and business studies, office clerks, accounting clerks, occupations for some other services, and for certain simple tasks. The comparison of wages between sectors also needs to exclude employment and demographic characteristics of employees that affect the wage level in a particular occupation and sector. Regression models enable such a comparison.

The difference in average wage between the public and private sector that remains after eliminating the demographic and employment structure can be interpreted as the so-called wage premium. When there is no wage premium, individuals with the same level of education, age, and in comparable occupations receive similar wages in both the public and private sector. However, when individuals with comparable characteristics and in comparable occupations are paid more in one sector than in another, this can be interpreted as a wage premium of that sector. Understanding the wage premium is important for designing an appropriate wage policy. If the premium for the public sector is positive and offers higher wages for similar work as in the private sector, this can lead to employees moving from the private to the public sector and put pressure on public finance expenditures. In the case of a negative wage premium, the public sector may face difficulties in attracting and retaining staff, which can lead to lower quality of public services.

The existence of a wage premium can be influenced by institutional, political, and economic factors. While wage setting in the private sector is driven by the profit motive, the level of wages in the public can also be subject to political motives. The public sector is also under pressure to set an example in terms of wages, especially for less educated employees in the public sector, allowing them to receive higher wages than they would in the private sector. The existence of a negative wage premium in the public sector can be a consequence of non-monetary benefits of the public sector, such as greater job security, as the public sector is characterised by lower employee turnover due to redundancies than the private sector, and more days off. The wage premium can also reflect differences and factors that cannot be taken into account in the evaluation. The models used to evaluate differences in wages include many factors that explain a large part of the aforementioned difference between the average wages of the sectors, but it should be borne in mind that it is not possible to include all factors that would influence differences in wages between individuals. Such factors include an individual's productivity, skills, motivation, work organisation, the shortage of certain staff, and thus the impact on wages, etc. Below we present estimates of the wage premium for the public sector, by selected occupational groups and by wage level.

The estimates[footnoteRef:4] of the wage premium for Slovenia show that the premium in the public sector is negative for the medium and high professional occupational groups and positive for the occupations with simpler tasks. Employees with comparable characteristics are paid relatively less in the public sector than in the private sector in occupations such as experts in various fields, technicians, and office clerks, while occupations for simpler tasks are paid relatively more. The magnitude of the negative premium for high and medium-professional occupations is, according to our estimates, on average between 5% and 10%. Meanwhile, the wage premium for some less demanding occupations is positive. [footnoteRef:5] [4:  In this short analysis, we used data from the aggregation of microdata from the Statistical Register of Employment (SRDAP) and income tax returns, among other sources. We had a dataset available for the period 2008−2022. An employed person, in our case, is someone who was employed by a legal entity for the whole year, with the same employer, worked full-time, for an indefinite or fixed term, was not on maternity or long-term sick leave, and received at least 90% of the minimum wage. We used the logarithm of the average monthly gross wage of the person employed as the dependent variable in the model. The explanatory variables included the individual's gender, marital status, disability status, citizenship (domestic or foreign), education (KLASIUS-SRV at the 3-digit level), age (and its squared value), type of employment in terms of contract duration, and a variable indicating whether the individual is employed in the public or private sector (as defined by the Standard Classification of Institutional Sectors – SKIS). The estimation of the latter variable illustrates the level of the public or private sector wage premium in a given comparable occupational group.]  [5:  For a more recent review of several analyses (meta-analysis) of the wage premium, including for other countries, and for a review of the methodology, see, for example, Abdallah et al. (2023).] 


The public sector wage premium is positive at a lower wage level and negative at a higher wage level. [footnoteRef:6] The estimates of the premium for different wage levels show that the wage premium varies with the wage level. The positive public sector wage premium decreases (and eventually becomes negative) with increasing wages – moving upwards in the distribution, i.e., at higher quantiles. Based on model estimates, however, we cannot confirm the wage premium with certainty in the middle of the wage distribution. [6:  In this case, the distribution of wages is divided into quantiles – intervals that divide the distribution into parts with an equal number of observations (for example, parts that divide the distribution into ten equal parts are called deciles). While ordinary regression analysis only gives us an estimate of the level of the wage premium for an employee in the public sector with an average wage, quantile regression allows us to calculate the wage premium at different points of the wage distribution.] 

Figure 4: Wage premiums in selected comparable public and private sector occupations, in %
[image: ]
Source: SURS (2024a), IMAD estimates.
Note: Robust standard errors at the individual level were used. Comparable occupations are selected at the 2-digit level. Full columns represent a statistically significant premium at a confidence level of at least a 90%.

Figure 5: Wage premiums in the public sector relative to the private sector by level of gross wage in 2022, in %  (please note: y-axis label = coefficient of wage premia)
[image: ]
Source: SURS (2024a), IMAD estimates.
Note: The individual coefficient value can, in simple terms, be interpreted as the percentage difference between public and private sector wages at a given percentile of the entire wage distribution. For example, at the 80th percentile: the wage premium in the public sector is negative, which means that comparable occupations and employees in the public sector are paid around 5% less (than in the private sector). In the quantile regression, the standard errors were estimated using the bootstrap method, and in Stata, we used the command library qrprocess by Chernozhukov et al. (2020). The grey area around the curve is a 95% confidence interval. Comparable occupations are at 4-digit level.
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